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1. fde[d ©RT (Electric Current) &t BH.31E. 312 (S| Unit)
T 8?
A. dree
C. R

7T ae]d URT Bt THAME. SbTS UIUR (Ampere) &,

B.3MH
D. Bl ©

1 9fd debg T Paiir (Coulomb) 3TeRN (Charge) &
Jare 9 YRHTEd gldt 2l
2. 3HIR (Ammeter) TITHIYAT & 3R 59 fdbe (Circuit)
H B SSTATare?
A. dieesT (Voltage) HIUAT 8, THMICR (Parallel) ® 58T
ST 8
B. @3¢ (Current) HIUdT &, AUIHH (Series) H 3T 3iTdT
2
C.33T (Resistance) AMYAT &, GHMAIGR | 13T S1dT &
D. UTeR (Power) HTYAT &, AUfIhH H SNSTSTdTe  (B)
7T : THIR (Ammeter) B¢ (Current) ATYAT & 3R 34
ERRIT Aidbe # SRAcTeg (Series) ST SITdT 2
3. FRufefaa® & ®H-ar3id &1 f7ad (Ohm's Law) 82
AV=I+R B.V =1I°R
CV=IR D.V =R/l ©
7T : 31H &1 AR (Ohm's Law) dedl & fob faweaiar
(Potential Difference, V) &RT (Current, 1) & FHTUTAT
glare: V =IR
4. fedt arerd (Conductor) T UfaRE (Resistance) A4
H A fhad GhHATUIG BT 8?
A. dTeTdb bl TS (Length)
B. fafere ufaRrerar (Resistivity) &
C. 31U BIC &IFhdT (Area of Cross-section)
D. 34H d&d dTait URT (Current) ©
7T : WARIE (Resistance) BTIA: R oc | / A, 5T&T | =
TS (Length), A = &% (Area of Cross-section)
5. Fia# § fooq ucTef 61 fafre Ufderar (Resistivity)
qeq 31fEip 8?2
A.diet B. ATEHIH
C.drem D. PIer (D)
1T e B ST 110 377dhst & IR, BT (Glass) &
fafere ufaierdr (Resistivity) 10" - 10" Q-m &ldl &,
ST Aey 31 Bl

6. UfaREiT Bl HMIKR (Parallel) # 51184 R Bot Ufdy
(Total Resistance) T FGBHTIUTd A &IdT &:
A. THT IfaRTet & IPT & SRTeR
B. THT TrfaRiedl b 37cR &b sRIeR
C. gHt IfcRIel &b HhHTUTAl & 1T &b SRTeR
D. 3w H 4 Bls Tel (€
7T : THHTAR A5 (Parallel Combination) # —
/R, = 1/Ri +1/Ra + 1/Rs
7. fazga %31t (Electric Energy) &t aTfuifsads sabTE
(Commercial Unit) T 87
A S B.aTe
C. fpetrare D. fdbcitare-ger (D)
7T ATUi>3d 3941 # fdeld 35311 & SbTs &
fpettare-gier (kWh) : 1kWh = 3.6 x 10° 5{
8. g€ fAgw 57 pEar 8 fos 3 H™T (Heat) IRt &
Wﬁﬂ?ﬁaa—ég:
A. e BT 7w B. 51cT T fAH
C.31H &1 a9 D.eiI®IAaR  (B)
7T : 511 BT HHTI YT A (Joule's Law of
Heating) wgdre — H = I?Rt
9. Ife fdt ufder (Resistance) W faHdiaR (Potential
Difference) 31TeN % féa1 51Te 3iR Ufddy A T8, at
YR (Current) TR &1 YHT BITT?
A URT ST 81 stesft B. &IRT TAM 71t
C. YR 31Teft &Y strevft D. EIRT 2= &1 STerft(C)
7&gT: 3 b1 HIH: | = V/R, Al V 371 & 5Te ar | Hi
3T 81 STeTT
10.€73¢ (Tungsten) BT T S &1 fohetThe
(Filament) # a9} fesarsirar e?
A. ST ITeiib (Melting Point) &H &IdT &

B. g 3787 $gaic} (Insulator) E1dT &

C. I ctid dgd 31feid eldl & 3R I8 3o dluHH
e Hbdl &

D. I€ H dlaes] R €l TG 36d1 8 (@)

7T : S 8e (Tungsten) BT TTeidid ~3380°C EIdT §,
3199 I8 =g di9dE | W T8t fUgedr — dod &t
TohaTHe & fae 3meef|




